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Kote:  Question Na. 1is compulsary answer any three questions from the remaining.

(i) mmi‘WWﬁquwmaﬂﬁq !
A Solve all parts of a question eonsecutively together.
(i) T W F 4 gE 6 AR B |
Start each question or g fresh page.

) #mémsﬁ#ﬁwﬁr#aﬁmﬁwé /
Onb/ English version is valid is case of difference in both the languages

LG WMW%WWW
Draw the symbots of the following as per Indian standards :
@) Tors ot gor W 61 afw .
Main fuse board with switches “Power”.
(i) it e
Circuit hreaker
(iii) FYa F FAE ¥ FRTEERT
Wiring below wall surface (Concealed wiring)
(iv) ¥ FhA ST
Separately excited generator
v) Frdh qramfrer e
Three phase synchronous motor
(ii) - ﬁw&aq&mﬁa%mmﬁwm aﬁaﬂsﬁ i aﬁmm.;ﬁ'}
farfereeent «f feflar 1

‘Draw the panel wiring diagram for parallel operation of two power transf
erte down the speclﬁcatlons of instruments used also. ' (5+12‘/z )

@ P.T.O.
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B ) *SOHz 125 kVA, 6.6/0. 4kV, ﬂam%qﬁmﬁaﬁg&qwaaﬂ)aﬁm
R | 3t FrerER E

A= 103

T TR = 1.1 de2

YRT g9 = 2 T/

fage @ i = 0.33

RfFTuiw =09 ¢ .

fag®t et oue =3

IS TETE/TET e i e’ A = 2.5

Calculate the main dimensions (L and H) for a 1-¢, 50 Hz, 125 kVA, 6.6/0.4 kV, Shell
- type transformer. Data are as follows :

Emf per turn = 10 Volt
Flux density = 1.1 wb/m?
Current density =2 Amp/mm?
~ Window Space Factor = 0.33
Stacking Factor = 0.9
Ratio of Window Height/Width =3 3
Ratio of core depth to width of central limb =2.5 ' - (A7%)

() = Freeita 5 HP, 400 V, 50 Hz, 1500 oot rpm, ﬁmmmmzr#g@
7 (L and D)ﬁmmé\fm} | St PR €
S S SR ol TFeel = 0.46 Ja/at2
MR TfteR — ek wfet wiex = 22000
ot 9K T = 83%
Yot | VTR T = 0.84 (qeERh
FUSHH U K = 0.955
WIS Targ/iet R Lir = 1.5
Calculate the Main dimensions (L and D) of a 3-¢, 50 Hz, 5 HP, 400V, 1500
synchronous rpm, squirrel cage induction motor. The data are as follows :
Average flux density in the air gap = 0.46 wb/m? ‘
Amp. conductor per mtr of armature = 22000
Full load efficiency = 83%
Full load power factor = 0.84 (lagging)
Winding factor KW =0.955

Ratio of core length to pole pitch L/t=1.5
(11) &g T = qot frey goeem =t wwmd | - |
Explain short pitch and full pitch winding. C (12%+5)
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4, - wHEE T A [N A A F A T T I T O T G aed e e & wne i
T ¥ | A I A arE gR RR o qe @ W Sa, el Yo dow S feRar ST §
. AifF SRET & B Uk T W E & Yebd ow A1 & T =Y | FIAR T I qoH B
AR ¢, @ TR o e ¥ I o QU ST B G A ol qod i A a4
W 969 I A H A ¢ | Ao F ARfiT S T |

A bus is provided with two push buttons for the passengers and one red and one green
signal bulb, in front of the driver’s seat. By pressing any one of the two push buttons,
by the passenger, who wants to get down, a red signal can be given to the driver to
stop the bus and simultaneously a green bulb should go off. When the bus is ready to
move the conductor should be able to switch off the red lamp and switch on the green
lamp by pressing a push button installed near to his seat. Draw schematic and wiring
diagram. - (17%)

5. () wwyE, 12 T, 6 Fueer, Brecia Ror diet # fafa gese amE TR |

Draw a developed winding diagram of a stator for a 3-¢, induction motor, having
2 pole, 12 slots and 6 coils.

(i) et Y waraen R ekl H FHAR Weer FoEE |

Explain sequence operation of motors with the heip of a diagram. (12‘/z+5)

6. () Feeurn Wi % R Frfa Eie # oo i | 78 R weel w® Pl w g,
TR | ' :
‘Define “Output coefficient” in case of D.C. machines. On what factors, it
depends, explain. :
(i) DOL W % Aerrea (Fra=ror uftaer) aar arfer o a e |

Draw schematic (control circuit) and wiring diagram of a DOL starter. (5+12%)
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